
AD-128 1 P.T.O.  

Seat No. :  _______________ 
  

AD-128 
April-2015 

T.Y. B.Com., (Annual Pattern) 

Cost and Management Accounting 

(Advanced Accounting & Auditing – IV) 

 
Time :  3 Hours]  [Max. Marks : 70 

 

ÍÛæ̃ Û¶ÛÛ : (1) ›÷¾Û¨Ûà ¼ÛÛ›ä÷¶ÛÛ …×ïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä̈ Û þùÉÛÛÙÈÛé ™öé. 

  (2) ›÷ÄõÁõà •Û¨Û©ÛÁõà…Ûé ©Û¾ÛÛÁõÛ ›÷ÈÛÛ¼Û¶ÛÛ ½ÛÛ•Û Äõ¸Ûé þùÉÛÛÙÈÛÛé. 

 

1. ›÷ÅÛÍÛÛ ÜÅÛ. ¶Ûä× …éïõ ÈÛÍ©Ûä¶Ûä× Š©¸ÛÛþù¶Û ©ÛíéýÛÛÁõ ¾ÛÛÅÛ¶ÛÛ Í¤øÛéïõ ”ÛÛ©Ûé ÅÛˆ ›÷©ÛÛ× ¸ÛÐéüÅÛÛ× ªÛ¨Û ¸ÛóÜ’õýÛÛ…Ûé¾ÛÛ×¬Ûà 

¸ÛÍÛÛÁõ ¬ÛÛýÛ ™öé. ¸ÛóÜ’õýÛÛ-1¾ÛÛ× 2000 …éïõ¾ÛÛé, …éïõ¾Ûþùà¥ø ` 30 ¶ÛÛ ½ÛÛÈÛé þùÛ”ÛÅÛ ïõÁõÈÛÛ¾ÛÛ× …ÛÈýÛÛ× Ðü©ÛÛ×.  

 …¶ýÛ ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 14 

ÜÈÛ•Û©Û ¸ÛóÜ’õýÛÛ-1 ¸ÛóÜ’õýÛÛ-2 ¸ÛóÜ’õýÛÛ-3 

¸ÛÁõ˜ÛæÁõ¨Û ¾ÛÛÅÛÍÛÛ¾Û•Ûóà ` 80,000 ` 90,000 ` 70,000 

¸Ûó©ýÛ“Û ¾Û›æ÷Áõà ` 30,000 ` 40,000 ` 23,000 

ïõÛÁõ”ÛÛ¶ÛÛ ”Û˜ÛÛÙ ` 12,000 ` 15,800 ` 20,600 

”ÛÁéõ”ÛÁõ Š©¸ÛÛþù¶Û (…éïõ¾ÛÛé¾ÛÛ×) 1800 1600 1500 

ÍÛÛ¾ÛÛ¶ýÛ ¼Û•ÛÛ¦ø (…éïõ¾ÛÛé¾ÛÛ×) 200 180 160 

¼Û•ÛÛ¦ø¶Ûà …éïõ¾Ûþùà¥ø ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û ` 10 ` 10 ` 10 

 Š¸ÛÁõ¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¸ÛóÜ’õýÛÛ ”ÛÛ©ÛÛ ©ÛíéýÛÛÁõ ïõÁõÛé.  

…¬ÛÈÛÛ  
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 ¾ÛÍ©Ûà ÜÅÛ.¶Ûà ¸ÛéþùÛÉÛ ©ÛíéýÛÛÁõ ¾ÛÛÅÛ¶ÛÛ Í¤øÛéïõ ”ÛÛ©Ûé ÅÛˆ ›÷©ÛÛ× ¸ÛÐéüÅÛÛ× ¼Ûé ¸ÛóÜ’õýÛÛ¾ÛÛ×¬Ûà ¸ÛÍÛÛÁõ ¬ÛÛýÛ ™öé. 

¾ÛÛ˜ÛÙ 2015¶Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛéÇÈÛÈÛÛ¾ÛÛ× …ÛÈÛà ™öé : 14  

ÜÈÛ•Û©Û 
¸ÛóÜ’õýÛÛ-1 

`̀̀̀ 

¸ÛóÜ’õýÛÛ-2 

`̀̀̀ 

©ÛíéýÛÛÁõ ¾ÛÛÅÛ 

`̀̀̀ 

ÉÛÄõ¶ÛÛé Í¤øÛéïõ 10,000 20,000 30,000 

¸Ûó©ýÛ“Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 55,000 60,000 – 

¸Ûó©ýÛ“Û ¾Û›æ÷Áõà 30,000 40,000 – 

Š©¸ÛÛþù¶Û ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÛÙ 20,000 24,000 – 

…Û”ÛÁõ Í¤øÛéïõ 15,000 24,000 33,000 

þùÁéõïõ ¸ÛóÜ’õýÛÛ ¸Û¦ø©ÛÁõ ¸ÛÁõ ¶ÛºõÛé  20% 25% – 

ÉÛÄõ…Û©Û¶ÛÛ Í¤øÛéïõ ¸ÛÁõ …Û×©ÛÁõ¸ÛóÜ’õýÛÛ ¶ÛºõÛé – 5,000 7,500 

 ¸ÛóÜ’õýÛÛ¶ÛÛé Í¤øÛéïõ ¸ÛóÛ¬ÛÜ¾Ûïõ ¸Û¦ø©ÛÁõ¶ÛÛ µÛÛéÁõ¨Ûé …Û×ïõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. ©ÛíéýÛÛÁõ ¾ÛÛÅÛ¶ÛÛ Í¤øÛéïõ¶Ûä× ¾ÛæÅýÛÛ×ïõ¶Û 

¸ÛóÜ’õýÛÛ-2¾ÛÛ×¬Ûà ›÷é Ýïõ¾Û©Ûé ºéõÁõ¼ÛþùÅÛà ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ©Ûé µÛÛéÁõ¨Ûé ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. …Û ÍÛ¾ÛýÛ•ÛÛÇÛ¶Ûä× 

ÈÛé̃ ÛÛ¨Û ` 3,50,000 Ðü©Ûä× : 

 ©ÛíéýÛÛÁõ ïõÁõÛé : 

 (1) þùÁéõïõ ©Û¼Û‘éõ ¶ÛºõÛé þùÉÛÛÙÈÛ©ÛÛ ¸ÛóÜ’õýÛÛ ”ÛÛ©ÛÛ×  

 (2) ”ÛÁéõ”ÛÁõ ¾ÛÇéÅÛ ¶ÛºõÛé þùÉÛÛÙÈÛ©Ûä× ¸ÛªÛïõ  

 

2. •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 14 

 (a) Ü¶ÛýÛÜ©Û ÜÅÛ.¶ÛÛ ˜ÛÛȩ́ Û¦øÛ¾ÛÛ×¬Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÇéÅÛ ™öé : 
                 `̀̀̀ 

…éïõ¾Ûþùà¥ø ÈÛé̃ ÛÛ¨ÛÝïõ¾Û©Û 20 

…éïõ¾Ûþùà¥ø ˜ÛÜÅÛ©Û”Û˜ÛÙ 15 

ÜÍ¬ÛÁõ ”Û˜ÛÛÙ  75,000 

  Š¸ÛÁõ¶Ûà ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà ÉÛÛéµÛÛé : 

   (1) ÍÛ¾Û©Ûæ¤ø Ý¼Ûþäù 
   (2) ` 25,000 ¶ÛÛé ¶ÛºõÛé ¾ÛéÇÈÛÈÛÛ ›÷ÄõÁõà ÈÛé̃ ÛÛ¨Û 
   (3) ` 25,000¶Ûà ”ÛÛé¤ø ïõÁõÈÛÛ ›÷ÄõÁõà ÈÛé̃ ÛÛ¨Û  
   (4) ¶ÛºõÛ-›÷¬¬ÛÛ¶ÛÛé •Ûä̈ ÛÛé«ÛÁõ (¸Ûà.ÈÛà. •Ûä̈ ÛÛé«ÛÁõ) 
   (5) šýÛÛÁéõ ÈÛé̃ ÛÛ¨Û ` 5,00,000 ÐüÛéýÛ ©ýÛÛÁéõ ÍÛÅÛÛ¾Û©Ûà¶ÛÛé •ÛÛÇÛé  
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 (b) •ÛÛíéÁõÛ×•Û ÜÅÛ.¶ÛÛ ˜ÛÛȩ́ Û¦øÛ¾ÛÛ×¬Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛéÇÈÛÈÛÛ¾ÛÛ× …ÛÈÛà ™öé :  

ÜÈÛ•Û©Û ÈÛÍ©Ûä-… ÈÛÍ©Ûä-¼Û 

…éïõ¾Ûþùà¥ø ºõÛÇÛé ` 80 ` 60 

…éïõ¾Ûþùà¥ø ïõÛ˜ÛÛé¾ÛÛÅÛ  5 kg 3 kg 

  ïõÛ˜ÛÛé¾ÛÛÅÛ …é ˜ÛÛÈÛàÄõ¸Û ¸ÛÜÁõ¼ÛÇ ™öé. ¾ÛÛªÛ 30000 ÜïõÅÛÛé ïõÛ˜ÛÛé ¾ÛÛÅÛ ¸ÛóÛ¸ýÛ ™öé. þùÁéõïõ ÈÛÍ©Ûä¶Ûä× 
ÈÛµÛä¾ÛÛ× ÈÛµÛä 5000 …éïõ¾ÛÛé¶Ûä× ÈÛé̃ ÛÛ¨Û ¬Ûˆ ÉÛïéõ ©Ûé¾Û ™öé.  

  ï×õ¸Û¶Ûà¶ÛÛ ÜÍ¬ÛÁõ ”Û˜ÛÛÙ ` 4,00,000 ™öé. ˆÌ¤ø©Û¾Û Š©¸ÛÛþù¶Û Ü¾ÛËÛ¨Û ©ÛíéýÛÛÁõ ïõÁõÛé …¶Ûé ¾ÛÐü«Û¾Û ¶ÛºõÛé 
ÉÛÛéµÛÛé.  

 (c) ÍÛà¾ÛÛ×©Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶ÛÛ ºõÛýÛþùÛ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  

 (d) ÍÛ¾Û©Ûæ¤ø ÜÈÛÊÅÛéÌÛ¨Û ÍÛ¾Û›ÛÈÛÛé.  

 

3. •ÛÛȩ́ Ûà ÜÅÛ.¶Ûà ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ©ÛÛ. 31¾Ûà ¾ÛÛ˜ÛÙ, 2015¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ× ªÛ¨Û ¾ÛÛÍÛ¶Ûä× 
ÁõÛéïõ¦ø …×þùÛ›÷¸ÛªÛ ©ÛíéýÛÛÁõ ïõÁõÛé : 14 

 (1) ©ÛÛ. 1-1-2015 ¶ÛÛ ÁõÛé›÷ ÁõÛéïõ¦ø …¶Ûé ¼Ûêïõ ÜÍÛÅÛïõ ` 70,000.   

(2) ¾ÛÛÍÛ ÁõÛéïõ¦ø ÈÛé̃ ÛÛ¨Û 
`̀̀̀ 

ŠµÛÛÁõ 
ÈÛé̃ ÛÛ¨Û  

`̀̀̀ 

ÁõÛéïõ¦ø 
”ÛÁõàþùà  

`̀̀̀ 

ŠµÛÛÁõ 
”ÛÁõàþùà  

`̀̀̀ 

¾Û›æ÷Áõà 

`̀̀̀ 

¸ÛÁõÛé“Û ”Û˜ÛÛÙ  

`̀̀̀ 

 Ü¦øÍÛé¾¼ÛÁõ-14 – 2,20,000 – 1,50,000 60,000 20,000 

 ›Û¶ýÛä…ÛÁõà-15 1,00,000 3,00,000 80,000 2,00,000 40,000 10,000 

 ºéõ¼Ûóä…ÛÁõà-15 2,00,000 3,50,000 1,60,000 1,80,000 30,000 30,000 

 ¾ÛÛ˜ÛÙ-15 2,50,000 4,00,000 2,00,000 2,40,000 20,000 40,000 

  (3) ºéõ¼Ûóä…ÛÁõà 2015¾ÛÛ× …éïõ ¶ÛÈÛä ýÛ×ªÛ ` 1,00,000 ¾ÛÛ× ”ÛÁõàþùÈÛÛ¾ÛÛ× …ÛÈÛÉÛé.  

 (4) ¾ÛÛ˜ÛÙ 2015 ¾ÛÛ× Ü¦ø¼Ûé¶˜ÛÁõ ÈýÛÛ›÷ ` 20,000 ˜ÛæïõÈÛÈÛÛ¶Ûä× ™öé.  

 (5) ÍÛ¾ÛýÛ•ÛÛÇÛé : 

  ŠµÛÛÁõ ÈÛé̃ ÛÛ¨Û 1 ¾ÛÛÍÛ  

  ŠµÛÛÁõ ”ÛÁõàþùà 1 ¾ÛÛÍÛ  

  ¾Û›æ÷Áõà  1 ¾ÛÛÍÛ  

  ¸ÛÁõÛé“Û ”Û˜ÛÛÙ ½ ¾ÛÛÍÛ  

                     …¬ÛÈÛÛ 
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3. (a) ¸ÛÅÛïõ ÜÅÛ. ¶ÛÛ ÈÛé̃ ÛÛ¨Û”Û˜ÛÙ¶Ûà 2014¶ÛÛ ÈÛÌÛÙ¶Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û Ðü©Ûà : 7 

ÜÈÛ•Û©Û  
ÁõÛ›÷ïõÛé¤ø 

`̀̀̀ 

¾ÛÐéüÍÛÛ¨ÛÛ 
`̀̀̀ 

ÍÛäÁõ©Û 
`̀̀̀ 

ïäõÅÛ 
`̀̀̀ 

¸Û•ÛÛÁõ 8,000 7,000 9,000 24,000 

ÈÛé̃ ÛÛ¨Û ïõÜ¾ÛÉÛ¶Û 3,000 4,000 6,000 13,000 

½ÛÛ¦äø …¶Ûé ïõÁõÈÛéÁõÛ 2,000 5,000 7,000 14,000 

ÈÛé̃ ÛÛ¨Û ”Û˜ÛÙ  5,000 8,000 4,000 17,000 

•ÛÛé¦øÛŠ¶Û¶ÛÛé ¸Û•ÛÛÁõ  2,500 3,500 3,000 9,000 

•ÛÛé¦øÛŠ¶Û ”Û˜ÛÙ  4,500 5,000 5,500 15,000 

›ÛÐéüÁõÛ©Û  10,000 12,000 8,000 30,000 

ïäõÅÛ 35,000 44,500 42,500 1,22,000 

  2015 ¶ÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø¶Ûä× …×þùÛ›÷¸ÛªÛ ¼Û¶ÛÛÈÛ©ÛÛ× ¶Ûà˜Ûé¶ÛÛ ºéõÁõºõÛÁõÛé µýÛÛ¶Û¾ÛÛ× ÅÛéÈÛÛ¶ÛÛ ™öé :  

  (1) þùÁéõïõ ÜÈÛÍ©ÛÛÁõ¾ÛÛ× ïõÜ¾ÛÉÛ¶Û¾ÛÛ× 10% ÈÛµÛÛÁõÛé ¬ÛÉÛé.  

  (2) þùÁéõïõ ÜÈÛÍ©ÛÛÁõ¶ÛÛ ½ÛÛ¦øÛ¾ÛÛ× 5% ÈÛµÛÛÁõÛé ¬ÛÉÛé.  

  (3) þùÁéõïõ ÜÈÛÍ©ÛÛÁõ¶ÛÛ ïäõÅÛ ¸Û•ÛÛÁõ¾ÛÛ× …¶Ûä’õ¾Ûé ` 2,000, ` 6,000 …¶Ûé ` 8,000 ¶ÛÛé ÈÛµÛÛÁõÛé 
¬ÛÉÛé.  

  (4) ÁõÛ›÷ïõÛé¤ø …¶Ûé ÍÛäÁõ©Û¶ÛÛé •ÛÛé¦øÛŠ¶Û¶ÛÛé ¸Û•ÛÛÁõ 4% ÈÛµÛÉÛé.  

  (5) ÍÛäÁõ©Û¾ÛÛ× ›ÛÐéüÁõÛ©Û ”Û˜ÛÙ¾ÛÛ× 20% ÈÛµÛÛÁõÛé ¬ÛÉÛé.  

  ©Û¾ÛÛÁéõ 2015¶ÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø¶Ûä× ÈÛé̃ ÛÛ¨Û ”Û˜ÛÙ …×þùÛ›÷¸ÛªÛ ©ÛíéýÛÛÁõ ïõÁõÈÛÛ¶Ûä× ™öé.  

 (b) ¡ö¾Ûïæõ¦øà ÜÅÛ.¶ÛÛ ˜ÛÛȩ́ Û¦øÛ¾ÛÛ×¬Ûà ¶Ûà˜Ûé¶Ûà ÜÈÛ•Û©ÛÛé Š¸ÛÅÛ¼µÛ ¬Ûˆ ™öé : 7 

ÜÈÛ•Û©Û 

¸ÛóÈÛèÜ«Û¶Ûà ÍÛ¸ÛÛ¤øà 

50%  

5000 …éïõ¾ÛÛé 

`̀̀̀ 

100%  

10000 …éïõ¾ÛÛé 

`̀̀̀ 

¸Ûó©ýÛ“Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 30,000 60,000 

¸Ûó©ýÛ“Û ¾Û›æ÷Áõà 20,000 40,000 

ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛ ¸ÛÁõÛé“Û ”Û˜ÛÛÙ 25,000 40,000 

ÈÛÐüàÈÛ¤øà ¸ÛÁõÛé“Û ”Û˜ÛÛÙ  50,000 50,000 

ÈÛé̃ ÛÛ¨Û ¸ÛÁõÛé“Û ”Û˜ÛÛÙ  15,000 25,000 

  60% …¶Ûé 80% ÉÛÜî©Û ¾ÛÛ¤éø ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ …×þùÛ›÷¸ÛªÛ ©ÛíéýÛÛÁõ ïõÁõÛé.  
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4. (a) …×Üïõ©ÛÛ ÜÅÛ.¶Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 7 

¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 
¸Ûó¾ÛÛ¨Û ”ÛÁéõ”ÛÁõ 

ÜïõÅÛÛé ÜïõÅÛÛéþùà¥ø Ýïõ¾Û©Û (`̀̀̀) ÜïõÅÛÛé ÜïõÅÛÛéþùà¥ø Ýïõ¾Û©Û (`̀̀̀) 

x 80 8 100 9 

y 100 7 140 5 

z 120 6 160 7 

 300  400  

  •Û¨Û©ÛÁõà ïõÁõÛé : 
  (1) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û 
  (2) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ½ÛÛÈÛ ÜÈÛ˜ÛÅÛ¶Û 
  (3) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ÈÛ¸ÛÁõÛÉÛ ÜÈÛ˜ÛÅÛ¶Û 
                    …¬ÛÈÛÛ 
  …éïõ ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛ ¾ÛÛ˜ÛÙ 2015 ¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé :  

  ¼Û›÷é¤ø ¾Ûä›÷¼Û ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ  ` 75,000 

  ¼Û›÷é¤ø ¾Ûä›÷¼Û Š©¸ÛÛþù¶Û 25000 …éïõ¾ÛÛé 
  ¾ÛÜÐü¶ÛÛ þùÁõÜ¾ÛýÛÛ¶Û ”ÛÁéõ”ÛÁõ Š©¸ÛÛþù¶Û 26000 …éïõ¾ÛÛé 
  ¾ÛÜÐü¶ÛÛ þùÁõÜ¾ÛýÛÛ¶Û ¬ÛýÛéÅÛ ”ÛÁéõ”ÛÁõ ÜÍ¬ÛÁ õ”Û˜ÛÙ  ` 77,000 

  •Û¨Û©ÛÁõà ïõÁõÛé : 
  (1) ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û 
  (2) ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û (¼Û›÷é¤ø ÜÈÛ˜ÛÅÛ¶Û) 
  (3) ›÷¬¬ÛÛ ÜÈÛ˜ÛÅÛ¶Û 
 (b) ÜÉÛÈÛ¾Û ÜÅÛ. ` 3,00,000¶ÛÛ ¾Ûæ¦øà ”Û˜ÛÙ¶ÛÛ …éïõ ¸ÛóÛé›÷éî¤ø¾ÛÛ× ÁõÛéïõÛ¨Û ïõÁõÈÛÛ¶Ûä× ÜÈÛ˜ÛÛÁéõ ™öé. …×þùÛÜ›÷©Û 

˜ÛÛé””ÛÛé ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü (ïõÁõÈÛéÁõÛ ¼ÛÛþù …¶Ûé –ÛÍÛÛÁõÛ ¸ÛÐéüÅÛÛ¶ÛÛé ¶ÛºõÛé) ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 7 

ÈÛÌÛÙ  ˜ÛÛé””ÛÛé ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü  
(`̀̀̀) 

1 80,000 

2 1,00,000 

3 1,20,000 

4 1,50,000 

5 60,000 

  ¾Ûæ¦øà¶Ûà ¸Û¦ø©ÛÁõ (ÈÛ¤øÛÈÛ þùÁõ) 10% µýÛÛ¶Û¾ÛÛ× ÅÛˆ ¶Ûà˜Ûé¶ÛÛ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 
  (1) ¸ÛÁõ©Û…Û¸Û ÍÛ¾ÛýÛ  
  (2) ˜ÛÛé””Ûä ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ  
  (3) ¶ÛºõÛïõÛÁõïõ©ÛÛ¶ÛÛé …Û×ïõ 
  ` 1 ¶Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ 10% ¶ÛÛ ÈÛ¤øÛÈÛ þùÁéõ ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé : 

ÈÛÌÛÙ ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ  

1 0.909 

2 0.826 

3 0.751 

4 0.683 

5 0.621 

                      …¬ÛÈÛÛ 
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 (b) ¾Ûà©Û ÜÅÛ.¾ÛÛ×¬Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÇé ™öé :  7 

  ˆÜîÈÛ¤øà ÉÛéÁõ¾Ûæ¦øà (` 100¶ÛÛé …éïõ …éÈÛÛ ÉÛéÁõ) ` 8,00,000 

  12% ¶ÛÛ Ü¦ø¼Ûé¶˜ÛÍÛÙ ` 5,00,000 

  ÈÛé̃ ÛÛ¨Û   40000 …éïõ¾ÛÛé 
  ÜÍ¬ÛÁõ ”Û˜ÛÙ   ` 4,00,000 

  …éïõ¾Ûþùà¥ø ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û ` 40 ™öé …¶Ûé …éïõ¾Ûþùà¥ø ˜ÛÜÅÛ©Û”Û˜ÛÙ ` 10 ™öé. …ÛÈÛïõÈÛéÁõÛ¶ÛÛé þùÁõ 50% ™öé. 
  •Û¨Û©ÛÁõà ïõÁõÛé : 
  (1) ïõÛ¾Û•ÛàÁõà ÜÅÛÈÛÁéõ›÷ 
  (2) ¶ÛÛ¨ÛÛïõàõýÛ ÜÅÛÈÛÁéõ›÷ 
  (3) ÍÛ×ýÛäî©Û ÜÅÛÈÛÁéõ›÷  
 

5. ýÛÛé•ýÛ ÜÈÛïõÅ¸Û¶Ûà ¸ÛÍÛ×þù•Ûà ïõÁõÛé …¶Ûé ›÷ÄõÁõà •Û¨Û©ÛÁõà ¼Û©ÛÛÈÛÛé : 14 

 (1) ¸ÛóÜ’õýÛÛ¾ÛÛ× þùÛ”ÛÅÛ ïõÁéõÅÛÛ …éïõ¾ÛÛé 1000 …éïõ¾ÛÛé 
  ÍÛÛ¾ÛÛ¶ýÛ ¼Û•ÛÛ¦ø  100 …éïõ¾ÛÛé 
  ”ÛÁéõ”ÛÁõ Š©¸ÛÛþù¶Û 800 …éïõ¾ÛÛé 
  …ÍÛÛ¾ÛÛ¶ýÛ ¼Û•ÛÛ¦ø¶ÛÛ …éïõ¾ÛÛé ÐüÉÛé  
  (a) 900 …éïõ¾ÛÛé   (b) 100 …éïõ¾ÛÛé  

  (c) 200 …éïõ¾ÛÛé   (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá  

 (2) ÍÛ¾Û©Ûæ¤ø Ý¼Ûþäù…é ºõÛÇÛé = _________ 

  (a) ÜÍ¬ÛÁõ ”Û˜ÛÙ    (b) ˜ÛÜÅÛ©Û ”Û˜ÛÙ 
  (c) ÈÛé̃ ÛÛ¨ÛÝïõ¾Û©Û   (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá  

 (3) …éïõ ï×õ¸Û¶Ûà¶Ûä× ÍÛ×ýÛäî©Û ÜÅÛÈÛÁéõ›÷ …¶Ûé ïõÛ¾Û•ÛàÁõà ÜÅÛÈÛÁéõ›÷ …¶Ûä’õ¾Ûé 4.5 …¶Ûé 1.5 ™öé.                  
ï×õ¸Û¶Ûà¶Ûä× ¶ÛÛ¨ÛÛïõàýÛ ÜÅÛÈÛÁéõ›÷ ÐüÉÛé. 

  (a) 6.75 (b) 6 (c) 3 (d) …Û¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá 

 (4) ÁõÛéïõ¦ø …×þùÛ›÷¸ÛªÛ ©ÛíéýÛÛÁõ ïõÁõ©Ûà ÈÛ”Û©Ûé ÜÍ¬ÛÁõ Ü¾ÛÅÛïõ©ÛÛé ¸ÛÁõ¶ÛÛé –ÛÍÛÛÁõÛé …é þùÉÛÛÙÈÛÛÉÛé  
  (a) ÁõÛéïõ¦ø …ÛÈÛïõ ©ÛÁõàïéõ   (b) ÁõÛéïõ¦ø ›ÛÈÛïõ ©ÛÁõàïéõ  
  (c) ÁõÛéïõ¦ø …ÛÈÛïõ …¶Ûé ÁõÛéïõ¦ø ›ÛÈÛïõ ©ÛÁõàïéõ (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá 

 (5) …éïõ ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛ Š©¸ÛÛþù¶Û …×•Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 
  ïõÅÛÛïõþùà¥ø ¾Û›æ÷Áõà¶ÛÛé ¸Ûó¾ÛÛ¨ÛþùÁõ  ` 3 

  ”ÛÁéõ”ÛÁõ ˜ÛæïõÈÛéÅÛ ¾Û›æ÷Áõà þùÁõ ïõÅÛÛïõ þùà¥ø  ` 3.50 

  ¸Ûó¾ÛÛ¨Û ïõÅÛÛïõÛé  4000 

  ”ÛÁéõ”ÛÁõ ïõÅÛÛïõÛé  4500 

  ¾Û›æ÷Áõà ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û ÐüÉÛé : 
  (a) ` 3,750 (¸ÛóÜ©ÛïæõÇ)  (b) ` 3,750 (…¶ÛäïæõÇ) 

  (c) ` 500 (¸ÛóÜ©ÛïæõÇ)   (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá 
__________ 
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Cost and Management Accounting 

(Advanced Accounting & Auditing – IV) 

 
Time :  3 Hours]  [Max. Marks : 70 

 

Instructions : (1) Figures to the right side indicate full marks of the question. 

   (2) Show necessary calculations in support of your answer. 

 

 

1. The production of a product of Jalsa Ltd. passes through three processes before it is 

transferred to finished stock. 2000 units were introduced in Process-1 at the rate of ` 30 

per unit.   14 

 Other information is as under : 

Particulars Process-1 Process-2 Process-3 

Sundry Materials ` 80,000 ` 90,000 ` 70,000 

Direct Wages ` 30,000 ` 40,000 ` 23,000 

Factory Expenses ` 12,000 ` 15,800 ` 20,600 

Actual output (in units) 1800 1600 1500 

Normal wastage (in units) 200 180 160 

Sales value of wastage per unit ` 10 ` 10 ` 10 

 From the above information prepare Process Accounts. 

OR 
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 A product of Masti Ltd. passes through two processes before it is transferred to finished 

stock. Following information is available for the month of March 2015. 

Particulars 
Process-1 

`̀̀̀ 

Process-2 

`̀̀̀ 

Finished 

Stock 

Opening stock 10,000 20,000 30,000 

Direct Materials 55,000 60,000 – 

Direct Wages 30,000 40,000 – 

Production Overheads 20,000 24,000 – 

Closing stock 15,000 24,000 33,000 

Profit on cost at each process 20% 25% – 

Inter profit on opening stock – 5,000 7,500 

 Stock in process are valued at prime cost and finished stock has been valued at the 

price at which it was received from Process-2. Sales during the period were ` 3,50,000. 

 Prepare : 

 (1) Process Accounts showing profit at each stage. 

 (2) Statement showing actual realized profit. 

 

2. Answer any two : 14 

 (a) The following information is obtained from the record of Niyati Ltd : 

                 `̀̀̀ 

Selling price per unit 20 

Variable expenses per unit 15 

Fixed expenses 75,000 

  From the above information find out : 

  (1) Break-Even Point 

  (2) Sales to earn profit of ` 25,000 

  (3) Sales to make a loss of ` 25,000. 

  (4) Profit-Volume Ratio 

  (5) Margin of safety when sales amount is ` 5,00,000 
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 (b) The following information is available from the books of Gaurang Ltd : 

Particulars Process-A Process-B 

Contribution per unit ` 80 ` 60 

Raw materials per unit 5 kg 3 kg 

  Raw materials is key factor only 30000 kgs material is available. Maximum sales 

potential of each product being 5000 units. 

  Fixed expenses of the company is ` 4,00,000. Find out the production mix which 

will yield maximum profit. Also calculate the amount of maximum profit. 

 (c) Discuss the advantages of Marginal Costing. 

 (d) Explain Break Even Analysis. 

 

3. From the following information of Gopi Ltd, prepare Cash Budget for three months 

ending on 31
st
 March, 2015 : 14 

 (1) Cash and bank balance on 1-1-2015 is ` 70,000.   

(2) Month Cash 

Sales `̀̀̀ 

Credit 

Sales  

`̀̀̀ 

Cash 

Purchase 

`̀̀̀ 

Credit 

Purchase 

`̀̀̀ 

Wages 

`̀̀̀ 

Indirect 

Expenses  

`̀̀̀ 

 December-14 – 2,20,000 – 1,50,000 60,000 20,000 

 January-15 1,00,000 3,00,000 80,000 2,00,000 40,000 10,000 

 February-15 2,00,000 3,50,000 1,60,000 1,80,000 30,000 30,000 

 March-15 2,50,000 4,00,000 2,00,000 2,40,000 20,000 40,000 

  (3) A new machine is to be purchased for ` 1,00,000 in February 2015. 

 (4) In March 2015 Debenture Interest of ` 20,000 is to be paid. 

 (5) Time lag : 

  Credit Sales  1 month 

  Credit Purchase  1 month 

  Wages  1 month 

  Indirect Expenses   ½ month 

                     OR 
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3. (a) The data regarding selling expenses of Palak Ltd. for the year 2014 are as below : 7 

Particulars 
Rajkot 

`̀̀̀ 

Mehsana 

`̀̀̀ 

Surat 

`̀̀̀ 

Total 

`̀̀̀ 

Salaries 8,000 7,000 9,000 24,000 

Commission on Sales 3,000 4,000 6,000 13,000 

Rent & Rates 2,000 5,000 7,000 14,000 

Selling expenses 5,000 8,000 4,000 17,000 

Warehouse salary 2,500 3,500 3,000 9,000 

Warehouse expenses 4,500 5,000 5,500 15,000 

Advertising 10,000 12,000 8,000 30,000 

Total 35,000 44,500 42,500 1,22,000 

  During year 2015 budget period, the following changes are to be allowed. 

  (1) Commission in each area to be increased by 10%. 

  (2) Rent in each area will increase by 5%. 

  (3) Salaries will increase by ` 2,000, ` 6,000 and ` 8,000 in each area 

respectively. 

  (4) Warehouse salary in case of Rajkot and Surat will increase by 4%. 

  (5) In Surat area advertisement expense will increase by 20%. 

  You are required to prepare Selling Expenses Budget for the year 2015. 

 (b) The following particulars are available from the records of Zamkudi Ltd. 7 

Particulars 

Level of Activity 

50%  

5000 units 

`̀̀̀ 

100%  

10000 units 

`̀̀̀ 

Direct Materials 30,000 60,000 

Direct Wages 20,000 40,000 

Factory Indirect Expenses 25,000 40,000 

Administrative Indirect Expenses 50,000 50,000 

Selling Indirect Expenses 15,000 25,000 

  Prepare a Flexible Budget at 60% and 80% of Capacity. 
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4. (a) Data of Ankita Ltd. are as under : 7 

Material 
Standard Actual 

Kg. Rate per kg. (`̀̀̀) Kg. Rate per Kg. (`̀̀̀) 

x 80 8 100 9 

y 100 7 140 5 

z 120 6 160 7 

 300  400  

  Calculate : 

  (1) Material Cost Variance 

  (2) Material Price Variance 

  (3) Material Usage Variance 

                    OR 

  The following information is available from the record of a factory for March 

2015 : 

  Budgeted fixed Indirect expenses  ` 75,000 

  Budgeted production 25000 units 

  Actual production during the month 26000 units 

  Actual fixed expenses during the month ` 77,000 

  Calculate : 

  (1) Fixed Indirect expenses variance 

  (2) Expenditure (Budget) variance 

  (3) Volume variance 

 (b) Shivam Ltd is considering investing in a project requiring a capital outlay of              

` 3,00,000. Forecasted Net Cash Flow (profit after tax and before depreciation) is 

as follow :   7 

Year Net Cash Flow (`̀̀̀) 

1 80,000 

2 1,00,000 

3 1,20,000 

4 1,50,000 

5 60,000 

  Using 10% as the cost of capital (Rate of discount) calculate the following : 

  (1) Payback period 

  (2) Net present value 

  (3) Profitability index 

  Present value of ` 1 at 10% discount rate is as follows : 

Year Present value 

1 0.909 

2 0.826 

3 0.751 

4 0.683 

5 0.621 

                      OR 
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 (b) The following particulars are available from Meet Ltd :  7 

  Equity share capital (each share of ` 100) ` 8,00,000 

  12% Debentures ` 5,00,000 

  Sales   40000 units 

  Fixed Expenses ` 4,00,000 

  The selling price per unit is ` 40 and variable cost per unit is ` 10, Income tax rate 

is 50% 

  Calculate : 

  (1) Operating Leverage 

  (2) Financial Leverage 

  (3) Combined Leverage 

 

5. Select appropriate alternative and show necessary workings : 14 

 (1) Units introduced in process  1000 units 

  Normal loss 100 units 

  Actual output 800 units 

  Abnormal loss units will be  

  (a) 900 units   (b) 100 units  

  (c) 200 units   (d) None of the above 

 (2) At Break Even Point, contribution = _________ 

  (a) Fixed expenses   (b) Variable expenses 

  (c) Selling price   (d) None of the above 

 (3) Combined leverage and operating leverage figures of a company are 4.5 and 1.5 

respectively. 

  What would be the figure of financial leverage ? 

  (a) 6.75 (b) 6 (c) 3 (d) None of these 

 (4) While preparing Cash Budget Depreciation on fixed assets is shown as  

  (a) Cash Receipts   (b) Cash Payments 

  (c) Cash Receipts & Cash Payments (d) None of the above 

 (5) Data regarding production of a factory is as follows : 

  Standard wage rate per hour ` 3 

  Actual wages paid per hour ` 3.50 

  Standard hours 4000 

  Actual hours 4500 

  Labour cost variance will be ? 

  (a) ` 3,750 (adverse)  (b) ` 3,750 (favourable) 

  (c) ` 500 (adverse)   (d) None of the above 

__________ 


